NAPLAN Numeracy (non calculator) Year 9 2008
Quick Answers

1. 25
2.

Width

204

104 »

0 10
3. 55
4. 20
S.
£/
/
| 4
6. 3F
7. 40 US dollars
8. 1 cmrepresents 2 mm
9. half the area of MNPQ.
10. 21n 10
11. 3
12. Anna
13. 10m +2
11

14. —

4

~ Length
20 "

15.

16.
17.
18.
19.
20.

WwWww.vprogress.com.au

21.
22.
23.
24.
25.
26.
27.

28.
29.
30.
31.

32.

128 degrees
2

1250 mL
32%

11 hours
22

24 metres
b=17

0.4

v-3
Aand C

6 3
2" .. 4
63
15%
h=20 and a=6

The mean increases and the mode does
not change.

a=120



